1A

Quality and Inn

. X-axis Nut-rotation Type Cartesian Robot

Assembly Procedures First Edition

Thank you for purchasing an IAl product.

Assemble your product correctly by referring to this Assembly Procedures.

NS (nut-rotation type actuator) + ISA configuration unit
No. commﬁg% Z-axis installation method Model Drawing No.
1| 2axes | — | 1csPA2-BIN(B2N) [TH (M) GMMO07-061
2 | 3axes |Z-axis base mount|ICSPA3-B1N(B2N)[IH(M)B3H (M) | GMMO07-062
3 | 3axes |Z-axis slider mount| ICSPA3-B1N (B2N)[JH(M)S3M GMMO7-063
4 | daxes | _— ~ | ICSPA4-B3NTH (M) GMMO7-064
5 | 6axes |z-axis base mount|ICSPAB-B3N1H(M)B3H (M) GMMO7-065
6 | 6axes |Z-axis slider mount| ICSPAG-B3N1H (M)S3M GMMO7-066

X-axis Nut-rotation Type Cartesian Robot — High-precision 2-axis Specification

[Model]
ICSPAZ-BIN H (M)

IcsPA2-B2N [X] H (M)
o

H: X-axis high-speed type

M: X-axis medium-speed type
[1] XY configuration direction
1: Stroke 500 to 2200

2: Stroke 2250 to 3000

[1] XY configuration
directions

[Constituent axes]

Constituent axis| Model
X-axis NS-LXMS-[-400-40<20>-  (stroke) -T2-AQ-RT
Y-axis ISPA-MYM-[J-200-20-  (stroke) -T2-AQ

* O in the above models indicates either A (absolute) or | (incremental).

[Assembled parts]

L -r.

[2] Track mounting bracket [3] Guide rail

< Q

[5] Connector box [6] Box cover

o

[8] Grommet with film

[4] Cable track

AN

[9] Controller-actuator
cable with cable fix cap

[7] Joint cover

[10] Cable guard [11] Metal cover

[Assembly Procedure] Drawing No.: GMMO07-061

X-axis Nut-rotation Type Cartesian Robot — High-precision 3-axis Specification,
Z-axis Base Mount

[Model]
ICSPAS-BIN [T] H (M) BaH (M)
ICSPA3-B2N H (M) BaH (M)

H: Z-axis high-speed type
M: Z-axis medium-speed type

H: X-axis high-speed type [1] XY
M: X-axis medium-speed type _bracket
Xy direction
1: Stroke 500 to 2200 ﬁ
2: Stroke 2250 to 3000 =
[1] XY configuration directions
[4] Cable
it track 1
oy
.'/
[7] Joint
cover 1
[Constituent
axes]
Constituent axis Model
X-axis | NS-LANS_-40040<20>- (stroke) TEAGHT [10]u(;?;)|e
Yoaxis | ISPAMYN-200-20- (stroke) T2-AQ g
Z-axis ISPA-MXM-ZJ-200-20010)- (stroke) -T2-AQ-B

* O in the above models indicates either A (absolute) or | (incremental).

[2] Track mounting
racket 1

[5] Connector
box 1

®

[8] Grommet
with film

T

\"\"‘ )

~J

[11] Metal
cover

[Assembly Procedure]

2] vz

[3] Guide [13] Track [14] Track
rail plate mounting plate, support bracket
[6] Box [15] Track [16] Cable | [17] Connector
cover 1 mounting bracket 2| | track 2 box

O @ 7 O

19] Conroler: [18] Box | [19] Joint | [[20] Cable
ac\,\:;?\%raﬁe © cover 2 cover 2 fix cap

fix cap

Drawing No.: GMMO07-062

X-axis Nut-rotation Type Cartesian Robot — High-precision 3-axis Specification,
Z-axis Slider Mount

[Model]

ICSPA3-BIN H (M) 83M

ICSPAS-B2N [@] H (M) s3Mm
(I

Lr,— M: Z-axis medium-speed type
H: X-axis high-speed type

M: X-axis medium-speed type

mxy direction

1: Stroke 500 to 2200
2: Stroke 2250 to 3000

[1] XY configuration directions

[Constituent

axes]

Constituent axi Model
X-axis | NS-LXMS-_-£00-40<20>- (Stroke) T-AC-AT
Y-axis__| ISPA-MYM-CJ-200-20- _ (stroke) -T2-AQ
Z-axis | ISPA-MXM-T-200-20(10)- (Stroke) -T2-AQ-B-NM

* O in the above models indicates either A (absolute) or | (incremental).

[Assembled parts]

[1] Xy [2) Track mounting | | [3] Guide
bracket bracket 1 rail

2 Q

[4] Cable | [5] Connector [6] Box
track 1 box 1 cover 1
L
[7] Joint 8] Grommet |[9] CDWG"SIV'
cover 1 with film | actuator cable
fix cap
o './-_'\\.\\.
S ~J
[10] Cable | [11] Metal
guard cover

[Assembly Procedure]

Drawing No.: GMMO07-063

[12] vZ

[13] Track [14] Track
bracket mounting plate - support bracket

S &

N Iﬁ

[15] Track [16] Tr [17] Cable
mounting bracket 2 | mounting bracket 3| | track 2
&= -
el
[18] Connector  [19] Box [20] Joint
box cover 2 cover 2

X-axis Nut-rotation Type Cartesian Robot — High-precision 4-axis Specification

[Model]

ICSPA4-B3N 1 H (M)
H: X-axis high-speed type
M: X-axis medium-speed type
[1] XY configuration direction

[1] XY configuration directions

Configuration direction: 1

(Range of operation)

[Constituent axes]

Constituent axis Model

X-axis NS-LXMM-[]-400-40<20>-  (stroke) -T2-AQ-RT
Y1-axis ISPA-MYM-[]-200-20-  (stroke) -T2-AQ
Y2-axis ISPA-MYM-[]-200-20-  (stroke) -T2-AQ

* O in the above models indicates either A (absolute) or | (incremental).

[Assembled parts]

NS,
[1] XY bracket

®‘}

[9] Controller-actuator
cable with cable fix cap

[10] Cable guard

[11] Metal cover

[Assembly Procedure] Drawing No.: GMMO07-064

X-axis Nut-rotation Type Cartesian Robot — High-precision 6-axis Specification,
Z-axis Base Mount

%
R N

[Model]
ICSPAG-BaN 1 H (M) BaH (M)

T

H: Z-axis high-speed type
M: Z-axis medium-speed type

[Assembled parts]

o
o
o
g

H: X-axis high-speed type
M: X-axis medium-speed type [1] XY
bracket

mxy direction

[1] XY configuration directions

o o T

el ‘-—‘ [4] Guide
rail

[7] Wiring
. b

[Constituent axes] ox cover
Consiituent axis Model =

X-axis | NSLYMM- 40040203 (stroke) T2 AG-RT «{v
Yi-axis | ISPA-MYM-C-200-20-  (stroke) -T2-AQ

Y2-axis | ISPA-MYM-C-200-20-  (Stroke) .Tz.AQ [mlugfg'e
Z1-axis | [SPA-MXM-Z-20020(10}- (Stroke) -T2.A08 g
Z2-axis_| ISPA-MXM.Z-20020010}- (stroke) -T2-.AQ8

* O in the above models indicates either A (absolute) or | (incremental).

2IXY
bracket

& 2

[5] Cable
track

D

(8] Grommet

with film

[11] Metal
cover

[Assembly Procedure] Drawing No.: GMMO07-065

3 Track mounting [12] Yz
Dracket

[13] Track | | [14] Track
plate mounting plate  support bracket
pR : =
. \f\q \ - ~
‘rJf;' | B >

[6] Wiring [45] Track [16] Cable | [17] Connector
box bracket|  mowntingbracket2 | track 2 box 2
ﬁ ) /
e L ’//
2211 C;:g:'gl.{g.; [18] Box [19] Joint
Wi cane cover 2 cover 2
fix cap

X-axis Nut-rotation Type Cartesian Robot — High-precision 6-axis Specification,
Z-axis Slider Mount

[Model]
ICSPAS-BIN 1 H (M) S3M

Lr— M: Z-axis medium-speed type

H: X-axis high-speed type
M: X-axis medium-speed type

(11 XY direction

[1] XY configuration directions

e

[Constituent axes]

Constituent axis. Model

X-axis | NSLXMIM-T400-40<20>- (Stroke) -T2-AQ-AT
Yl-axis |[ISPA-MYM-_-200-20- (Stroke) -T2-AQ
Y2-axis | ISPA-MYM-_-200-20- (stroke) -T2-AQ
Z1-axis | ISPA-MZM--200-10- (stroke) -T2-AQ-B-NM
Z2-axis | ISPA-MIM--200-10-_(Stroke) -T2.AQ-B-NM

*Oin the above models indicates either A (absolute) or I (incremental).

e

[1] XY ‘ ‘ [21 XY 3] Track
bracket bracket | | mounting bracket
2 ; Lf_l S
[4] Guide [5] Cable [6] Wiring
rail track box bracket

ryoN

©

[7] Wiring  |[8] Grommet | [9] Controller-
box cover || with film  [acluator cable
fix cap
e P
[10] Cable ' | [11] Metal
guard cover

[Assembly Procedure]

Drawing No.: GMMO07-066

[13] Track [14] Track
mounting plate - support bracket

kS
5 Il P
121 vz
bracket

s il ﬁ
15] Track 16] Track [17] Cable

mounting bracket 2 | mounting bracket3| | track 2

[18] Connector  [19] Box [20] Joint
box cover 2 cover 2

Catalog No.: MJO196-1A



/" Caution: @ Although each part has been chamfered to remove sharp edges, exercise due caution during the
assembly to prevent injury. If necessary, wear gloves or other protective gears.

® Exercise due caution during the assembly to prevent pinching of hands and fingers.

X-axis Nut-rotation Type Cartesian Robot — High-precision 2-axis Specification

ICSPA2-B1N (B2N) OOH (M)
GMMO07-061 |

1/1

Drawing No. [

[Tools] Allen wrench, spanner wrench |

In the case of configuration direction types 2 to 4,
the actuator and bracket directions are different.

Parallel pin (2 pcs)

(Range of
g FEEEN

Y-axis: ISPA

Hexagonal socket head bolt M8x30 _
+ high-tension washer (4 sets) T~ "

| (Y-axis installed
1 on opposite side)

- Hexagonal bolt M8x40 ! 5,22?55},;")
+ high-tension washer (4 sets) SeeET

[1] XY bracket

Parallel pin (1 pc or 2 pcs) -

(Reverse of3) |
(Range |
operation) !

X-axis: NS -~

X-axis base, reamed-hole side |

[Installation of X-axis: NS on XY bracket [1]] |
Parallel pin
#Bh7x18

| Hexagonal bolt ] Tightening torque | :
M&>40mm | 306kgf - cm,/2997N - cm |

[Installation of Y-axis: ISPA on XY bracket [1]] _ |

Hexagonal socket
head bolt

M8 X 30mm

Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin.
Adjust the angle between the X-axis and Y-axis to the right angle, and then
mount the hexagonal bolts.

Parallel pin
#8h7x18

Tightening torque |
306kgf + cm,~2997N + cm

Install the grommet with
film [8] onto the Y-axis
actuator cable and
guide the cable through |
the hole in the track l

mounting bracket [2].

Hexagonal socket head bolt |
M5x10 (2 pcs) \

[2] Track mounting bracket

[1] XY bracket -

X-axis: NS - T ‘
[8] Grommet with film

[8] Grommet with film

[Installation of track mounting bracket [2] on XY bracket [1]]
Tightening torque
74.2kgf + cm, /727N + cm

Hexagonal socket head bolt
M52 10mm

[Installation of X-axis: NS side of connector box [5] in T-slot]

Hexagonal socket head bolt
M4 X Bmm

Tightening torque
18.0kgf « cm,~ 176N « cm

e e

Detail view of A

Tie-mount KR5G5 (by HellermannTyton)
[5] Connector box

‘ Cable connector connection ‘

|

+ hexagonal socket head button bolt M4x6 (1 set) Place the X-axis cable and

Tie-mount KR5G5 .
(by HellermannTyton) \ 7 Connector joint for
+ hexagonal socket head / ISPA M cable and

.~_\' 9
button bolt M4x6 (1 set) \ ‘Lﬂeround terminal PG cable (LS cable)

Hexagohal socket head bolt M3x3

Cable inside track Ground terminal
Hexagonal socket head bolt M3x12 (8 pcs)

[6] Bok cover
[7] Joint cover

[10] Cable guard

Hexagonal socket
head bolt M4x6
(2 pes)

[9] Controller-actuator cable with cable fix cap
[11] Metal cover
Thin-head bolt M3x12 (4 pcs)
[5] Connector box
[Installation of metal cover [11] on track mounting bracket [2]]
Thin-head bolt

M3 4mm

/! Caution: The cables for X-axis (axis 1) and Y-axis (axis 2) are
placed in tracks. Install each cable correctly.
[Cable markings]
o X-axis (axis 1): 1

Tightening torque
7.12kgf + cm,~69.8N - em
o Y-axis (axis 2): 2

. ; T - PG cable (LS cable) into [2] Track mounting bracket |
2] Track mounting bracket — -y v

Detail viewof A | [2] g bracke TN mouideran CoemSigerack tne cable guard [10] and \ :
e ~ \ LI 1 & T take them out from the top. |

/ [A \ !

2. Connector joint for
{ NS M cable and '
PG cable (LS cable) |

Connector joint for cable inside track
and controller-actuator cable

[Installation of box cover [6] on connector box [5]] /i, Caution: Since the hexagonal holes in thin-head bolts are small,

the hexagonal holes may be damaged depending on the

Hexagonal socket head bolt Tightening torque

Make sure the numbers on the
connectors to be connected match.

tightening method. Exercise due caution when tightening

M3 12mm thin-head bolts.

5.51kgt + em./54N « cm

[Installation of tie-mount on track mounting bracket [2]]

[Installation of cable guard [10] on XY bracket [1]] [Installation of tie-mount on guide rail [3]]

Hexagonal socket head bolt
M4 6mm

Tightening torque
36.7kgf - cm /359N - em

_Hexagonal socket head button bolt |
M4 > Emm

Tightening torque

11.7kgt - em 114N - cm M3X3mm

Hexagonal socket head bolt

[Installation of ground terminal on [1] XY bracket] |

Tightening torque |
15.8kgf - cm_~ 154N + cm |

Hexagonal socket head bolt M4x10 (2 pcs)

[4] Cable track

Affixing positions of guide rail [3],
cable track [4] and connector box [5]

[4] Cable track

S -,
> a0 __\_ i
n e |
— = = =+ — - = - ”
[3] Guide rail \
__._Hexagonal socket head bolt [3] Guide rail

M4x10
. + hexagonal nut (2 sets)
“\Flange socket

(hexagonal socket head type) M4x10
. + hexagonal nut (4 sets)

Hexagonal socket head bolt M4x6

+ hexagonal nut (2 sets)
[5] Connector box

[5] Connector box

Align the guide rail [3] surface
with the end face of the base.

[Installation of X-axis: NS side of guide rail [3] in T-slot]

Flange socket (hexagonal socket head type)
M4 > 10mm

Tightening torque
18.0kgf « cm 176N - cm
[Installation of cable track [4] on track mounting bracket [2]]

[Installation of guide rail [3]_f0r cable track [4] in T-slot]

Hexagonal socket head bolt
M4 > 10mm

Tightening torque
36.7kgf + cm,~ 359N » cm

Secure the cables using wraps.

/1 Caution: Secure the wires to prevent the cables and connectors
from contacting each axis when the axis is moved over its
entire stroke.

When manually moving the actuator with brake, connect
the controller, supply the power, and then release the brake
release switch (by turning the switch to the RLS side).

* This assembly procedure applies to configuration direction 1. If other configuration direction such as 2, 3 or 4 is used,

the actuator and bracket directions vary.

However, you can still use this assembly drawing as a reference.



/A Caution: @ Although each part has been chamfered to remove sharp edges, exercise due caution during the §'§Xafe'“h;‘f;;‘;?“°” Type Cartesfan Robot ~ High-precision 3-axis Specification.
assembly to prevent injury. If necessary, wear gloves or other protective gears. ICSPA3-B1N (B2N) OH (M) B3H (M)
® Exercise due caution during the assembly to prevent pinching of hands and fingers. -
J y D PEver Pmend J Drawing No. | GMMO07-062 [ 1,2

m [Tools] Allen wrench, spanner wrench |

In the case of configuration direction types 2 to 4,
the actuator and bracket directions are different.

Install the grommet with Hexagonal socket head bolt M4x10 (2 pcs)
i film [8] onto the Y-axis

Affixing positions of guide rail [3],
cable track 1 [4] and connector box [5]

[4] Cable track 1
iﬁ/ ]

[2] Track mounting bracket 1
[4] Cable track 1 /.

actuator cable and
guide the cable through
the hole in the track

ing bracket [2].

Parallel pin (2 pcs)

Configuration
direction: 2
(Reverse of 1)

(Range of |

operation)

Y-axis: ISPA

Hexagonal socket head bolt
M5x10 (2 pcs)

Hexagonal socket head bolt M8x30 T Tmeee o~ & | 0 -~ | ] . b= )
+ high-tension washer (4 sets) . [3] Guide rail
e aster | Hexagonal socket head bolt [3] Guide rail
Hexagonal bolt M8x40 | czer : M4x10 [5] Connector box 1
+ high-tension washer (4 sets) R - + hexagonal nut (2 sets)
| Flange socket Align the guide rail [3] surface
: [1] XY bracket (hexagonal socket head type) M4x10 with the end face of the base. %
________ + hexagonal nut (4 sets)
| | X-axis: NS = Hexagonal socket head bolt M4x6
3 : ’ [8] Grommet with film + hexagonal nut (2 sets)
R | | [5] Connector box 1
oo NS L[ - perstiom_ _ ! ! [8] Grommet with film
-axis: :
X-axis base, reamed-hole side, |
. [Installation of track mounting bracket 1 [2] on XY bracket [1]] [Installation of X-axis: NS side of guide rail [3] in T-slot]
[Installation of X-axis: NS on XY bracket [1]] | Hexagonal socket head bolt Tightening torque Flange socket (hexagonal socket head type) Tightening torque
Parallel pin Hexagonal bolt Tightening torque : M5 10mm 74.2kgl + cm, 727N + cm M4 10mm 18.0kgf - cm.“176N + cm
$8h718 M 40mm | 306kgt - cm,~2997N - cm |
[Installation of cable track 1 [4] on track mounting bracket 1[2]]
[Installation of Y-axis: ISPA on XY bracket [1]] [Installation of X-axis: NS side of connector box 1 [5] in T-slot] [Installation of guide rail [3] for cable track 1 [4] in T-slot]
Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin. parallel pin Hexagonal socket Tightening torque | Hexagonal socket head bolt Tightening torque Hexagonal socket head bolt Tightening torque
Adjust the angle between the X-axis and Y-axis to the right angle, and then p head bolt 9 g torq . a6 18.0kgl - om,~ 176N - Ma>10 36.7kgl - o, 350N -
mount the hexagonal bolts. $8h7X18 MB><30mm | 306kgf - cm,“2997N - cm : mm kgl = cm cm mm 7Kgt - cm cm

Z-axis: ISPA
| [13] Track mounting plate | Hexagonal socket head bolt M6x15 (2 pcs)
Y-axis: ISPA : :
X-axis: NS | /Hexagonal socket head bolt M4x8 (2 pcs) I 7-axis: ISPA
[17] Connector box 2 ’
[14] Track support bracket .
Hexagonal socket head bolt M4x16 o A
| + hexagonal nut (2 sets) | |
! Hexagonal socket head bolt
. : [} i - M4x5 (2 pcs)
| b
: 0 : [12] YZ plate
| 0 Place the M4 hexagonal nut in |
Parallel pin (2 pcs) 2 the T slot beforehand to secure
[12] YZ plate 2 0 the tie-mount in position. .
Hexagonal socket head bolt M8x25 ~ Hexagonal socket head bolt | g 0 |
+ M8 dedicated washer (4 sets) - M8x30 . .
\9';‘/ + flat washer (4 sets) | (1] XY bracket | v-axis: ISPA
5 :
Z-axis: ISPA :
| X-axis: NS |
Y-axis: ISPA
[Installation of YZ plate [12] on Y-axis: ISPA] | [Installation of track support bracket [14] on XY bracket [1]] | [Installation of track mounting bracket 2 [15] on YZ plate [12]]
Parallel pin Hexagonal sacket Tightening torque | Hexagonal socket head bolt Tightening torque | Hexagonal socket head bolt Tightening torque
$8h7:X18 M8&>x30mm | 306kgt - cm, 2997N - cm M43<8mm 36.7kgf - em, /359N - cm M6 15mm 128kgf « cm,1234N - cm
[Installation of Z-axis: ISPA on YZ plate [12]] | [Installation of track support metal [14] on track mounting plate [13]] | [Installation of connector box 2 [17] on track mounting bracket 2 [15]]
Parallel pin Hexi%g’;a:)z?ke‘ Tightening torque . Hexagonal socket head bolt Tightening torque . Hexagonal socket head bolt Tightening torque
$ 8h7 <25 Mg 25mm | 306kgf - cm, 2097N « cm | W4 > 16mm 36.7kgf - cm, 359N - cm I M4 5mm 18.0kgf - cm, 176N « cm

* This assembly procedure applies to configuration direction 1. If other configuration direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.



X-axis Nut-rotation Type Cartesian Robot — High-precision 3-axis Specification,
Z Base Mount

ICSPA3-B1N (B2N) O0H (M) B3H (M)

Drawing No. | GMMO07-062 | 2/2

@ [16] Cable track 2

Hexagonal socket head bolt M4x8 (2 pcs)
\ [15] Track mounting bracket 2

‘ Cable connector connection ‘

Hexagonal e E[g{:gﬁ X
socket head Z-axis: ISA, etc. L_‘_\F
bolt M4x12 [17] Connector box 2 P R Y1

-~ [18] Box cover 2 [17] Connector

[8] Grommet with film POX 2

R B Hexagonal socket head bolt
.J - M3x12 (8 pcs)

Connector joint for
ISPA M cable and
PG cable (LS cable)

Hexagonal socket head bolt
M4x12
+ hexagonal nut (2 sets)

=""19] Joint cover 2

[1] XY bracket
[14] Track support bracket

[Installation of cable track 2 [16] on track support bracket [14]]
Hexagonal socket head bolt
M4 12mm

Tightening torque
36.7kgf - cm,~359N - cm

[Installation of cable track 2 [16] on XY bracket [1]]
Hexagonal socket head bolt
M4X12mm

Tightening torque

36.7kgf - cm, 359N « cm

[Installation of cable track 2 [16] on track mounting bracket 2 [15]]

Hexagonal socket head bolt
M4X8mm

Tightening torque
36.7kgf + cm,/359N - cm

[Installation of box cover 2 [18] on connector box 2 [17]]

Hexagonal socket head bolt
M3X12mm

Tightening torque
5.51kgf « cm,/54N + cm

Tie-mount KR5G5 (by HellermannTyton)

+ hexagonal socket head button bolt M4x6 (2 sets) [15] Track mounting bracket 2

Tie-mount KR5G5

(by HellermannTyton)

+ hexagonal socket head button bolt M4x6
+ hexagonal nut (1 set)

Install in the T slot of the Y-axis.

Detail view of A

Place the X-axis cable and
PG cable (LS cable) into
the cable guard [10] and

Tie-mount KR5G5 (by HellermannTyton) ‘Cable connector connection ‘
+ hexagonal socket head button bolt M4x6 (1 set) [4] Cable track 1

X [5] Connector box 1
—7 3 [3] Guide rail

. [2] Track mounting bracket 1
Detail view of A [2] Track mounting bracket 1

Cable inside track

]
_—“%
Tie-mount KR5G5 -4
(by HellermannTyton) | B4
+ hexagonal socket head '-\.
button bolt M4x6 (1 set) \

ey

Connector joint for =] Connector joint for
ISPA M cable and | !/ NS M cable and

| ik, PG cable (LS cable) ' ~1sll/ PG cable (LS cable)
_ £=F77  Ground terminal X 1 73
. Ground terminal © S g EES

Cable inside track
Hexagonal socket head bolt M3x12 (8 pcs)

[6] Box cover 1
[7] Joint cover 1

[9] Controller-actuator cable with cable fix cap

Hexagonal socket head bolt M3x3
[10] Cable guard

Hexagonal socket
head bolt M4x6 |
(2e acs)o X [11] Metal cover

i Thin-head bolt M3x12 (4 pcs)

[5] Connector box ;'a__,é.?

/% Caution: The cables for X-axis (axis 1), Y-axis (axis 2) and Z-axis
(axis 3) are placed in tracks. Install each cable correctly.
[Cable markings]
o X-axis (axis 1): 1 e Y-axis (axis 2): 2 e Z-axis (axis 3): 3

[Installation of metal cover [11] on track mounting bracket 1 [2]]
Thin-head bolt
|| M3X4mm |

Connector joint for cable inside track

Tightening torque and controller-actuator cable

7.12kgf - om/69.8N - om |

Make sure the numbers on the
connectors to be connected match.

[Installation of box cover 1 [6] on connector box 1 [5]) A\ Caution: Since the hexagonal holes in thin-head bolts are small,

the hexagonal holes may be damaged depending on the

Hexagonal socket head bolt Tightening torque

tightening method. Exercise due caution when tightening

M3X12mm thin-head bolts.

5.51kgf + cm, /54N + cm

[Installation of tie-mount on track mounting bracket 1 [2]]

[Installation of cable guard [10] on XY bracket [1]] [Installation of tie-mount in T slot of guide rail [3]] [Installation of ground terminal on [1] XY bracket]

Hexagonal socket head bolt Tightening torque Hexagonal socket head button bolt Tightening torque Hexagonal socket head bolt Tightening torque

M4X 6mm 36.7kgf + cm,/359N + cm M4X6mm 11.7kgf » cm, /114N + cm M3X3mm 15.8kgf + cm,/ 154N « cm
Z-axis cables X-axis, Y-axis cables
Secure the cables using wraps.
Secure the cables using wraps.
Secure the cables using wraps. T,

[14] Track support bracket

[1] XY bracket
[2] Track mounting bracket 1

Tie-mount KR5G5 (by HellermannTyton)
+ hexagonal socket head button bolt M4x6 (1 set)

[Installation of tie-mount in track mounting bracket 2 [15]]
[Installation of tie-mount on track support bracket [14]]
[Installation of tie-mount in T slot of XY bracket [1]]
[Installation of tie-mount on track mounting bracket 1 [2]]

Hexagonal socket head button bolt
M4 X 6mm

Tightening torque
11.7kgf + cm,/114N « cm

Secure the cables using wraps.

/% Caution: Secure the wires to prevent the cables and connectors
from contacting each axis when the axis is moved over its
entire stroke.

When manually moving the actuator with brake, connect
the controller, supply the power, and then release the brake
release switch (by turning the switch to the RLS side).




X-axis Nut-rotation Type Cartesian Robot — High-precision 3-axis Specification,

/A Caution: @ Although each part has been chamfered to remove sharp edges, exercise due caution during the Z Slider Mount
assembly to prevent injury. If necessary, wear gloves or other protective gears. ICSPA3-B1IN (B2N) OH (M) S3H (M)
® Exercise due caution during the assembly to prevent pinching of hands and fingers. -
Drawing No. | GMMO07-063 | 1/2
m [Tools] Allen wrench, spanner wrench |
In the case of configuration direction types 2 to 4,
the actuator and brgcket directions ar()elrz:lifferent. | Install the grommet with Hexagonal socket head bolt M4x10 (2 pcs)

Affixing positions of guide rail [3],
cable track 1 [4] and connector box [5]

[4] Cable track 1
iﬁ/ )

[2] Track mounting bracket 1
[4] Cable track 1

actuator cable and
guide the cable through
the hole in the track
mounting bracket [2].

i film [8] onto the Y-axis

Parallel pin (2 pcs)

Configuration
direction: 2
(Reverse of 1)

(Range of |

operation)

Hexagonal socket head bolt
M5x10 (2 pcs)

Hexagonal socket head bolt M8x30 . T s —— || & | -~ | ] ! )
+ high-tension washer (4 sets) . [3] Guide rail
S | Hexagonal socket head bolt [3] Guide rail
Hexagonal bolt M8x40 | et : M4x10 [5] Connector box 1
+ high-tension washer (4 sets) R - + hexagonal nut (2 sets)
| Flange socket Align the guide rail [3] surface
: (hexagonal socket head type) M4x10 with the end face of the base.
________ | + hexagonal nut (4 sets)
. - . "Hexagonal socket head bolt M4x6
Parallel pin (1 pc or 2 pcs) . X-axis: NS [8] Grommet with film + hexagonal nut (2 sets)
R | [5] Connector box 1
_ Hlff--E - [8] Grommet with film
X-axis: NS :
X-axis base, reamed-hole side |
. [Installation of track mounting bracket 1 [2] on XY bracket [1]] [Installation of X-axis: NS side of guide rail [3] in T-slot]
[Installation of X-axis: NS on XY bracket [1]] | Hexagonal socket head bolt Tightening torque Flange socket (hexagonal socket head type) Tightening torque
Parallel pin Hexagonal bolt Tightening torque : M53<10mm 74 2kgt - om /727N - em M43<1 0mm 18.0kgt - cm /176N - cm
$8h7x18 Me40mm | 306kgt - cm,2997N - cm |
[Installation of cable track 1 [4] on track mounting bracket 1 [2]]
[Installation of Y-axis: ISPA on XY bracket [1]] [Installation of X-axis: NS side of connector box 1 [5] in T-slot] [Installation of guide rail [3] for cable track 1 [4] in T-slot]
Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin. Parallel pin Hexagonal socket Tightening torque | Hexagonal socket head bolt Tightening torque Hexagonal socket head bolt Tightening torque
Adjust the angle between the X-axis and Y-axis to the right angle, and then head bolt . M4 =6 18.0kgl - om~ 176N - Ma>10 36.7kgf - o~ 356N -
mount the hexagonal bolts. $8h7X18 M8<X30mm | 306kgt - cm.~2997N - em : mm LOkgl = cm cm mm 7Kgt - em cm

| @ Hexagonal socket head bolt M6x12 |

(2 pes)

i [14] Track support bracket\\ bij / Z-axis: ISPA I

X-axis: NS Y-axis: ISPA

[16] Track mounting bracket 3

Parallel pin (2 pcs) . [13] Track mounting plate
[12] YZ bracket |

[ Hexagonal socket head bolt M4x16
| + hexagonal nut (2 sets)

i [1] XY bracket

Place the M4 hexagonal nut (1 pc) in the T slot |
beforehand to secure the tie-mount in position.

[12] YZ bracket | |

Hexagonal bolt M8x35
+ flat washer (4 sets)

Zoaxis: 15PA—" |

\\;Q Y earaie pin @ pes) Hexagonal socket head bolt M8x40 : [Installation of track support bracket [14] and track mount [13] on Y-axis: ISPA] Hexadonal socket head bolt M8x5 @ pos)
S (4 pes) | Hexagonal socket head bolt Tightening torque | 9 s
: M4 16mm 36.7kgf + cm, /359N + cm

[Installation of YZ bracket [12] on Y-axis: ISPA] | [Installation of track support bracket [14] on XY bracket [1]] |
Parallel pin Hexi%‘;’;agzﬁc‘(e‘ Tightening torque | Hexagonal socket head bolt Tightening torque |
¢ 8h7:X18 M&x35mm | 117kgt - cm,/1148N - cm M4>8mm 36.7kgf - cm, /358N - cm

[Installation of Z-axis: ISPA on YZ bracket [12]] | [Installation of track mounting bracket 2 [15] on YZ bracket [12]] | [Installation of track mounting bracket 3 [16] on Z-axis: ISPA]
Parallel pin Hexagonal sacket Tightening torque . Hexagonal socket head bolt Tightening torque . Hexagonal socket head bolt Tightening torque
¢ Bh7:X18 M8<40mm | 306kgt - cm, 2097N - cm | M62<12mm 126kgt « em.1234N + cm | M8 15mm 306kgf + cm,~2097N -+ cm

* This assembly procedure applies to configuration direction 1. If other configuration direction such as 2, 3 or 4 is used, the actuator and bracket directions vary. However, you can still use this assembly drawing as a reference.




X-axis Nut-rotation Type Cartesian Robot — High-precision 3-axis Specification,
Z Slider Mount

ICSPA3-B1N (B2N) OH (M) S3M

Drawing No. \

GMMO07-063 | 2/2

~z, - Z-axis: ISPA

6]

Hexagonal socket head bolt M4x8
(2 pcs)

[4] Cable track 1
[17] Cable track 2

[

)

Py

Hexagonal socket head bolt M4x12
+ hexagonal nut (2 sets) 2

Hexagonal socket head bolt M4x12
(2 pcs)
Y-axis: ISPA

[1] XY bracket q e
ﬁ‘_\v— I

[Installation of cable track 1 [4] on track support bracket [14]]

Hexagonal socket head bolt
M4<12mm

Tightening torque
36.7kgf + cm,~ 359N + cm

[Installation of cable track 1 [4] on XY bracket [1]]
Hexagonal socket head bolt
M4 12mm

Tightening torque
36.7kgf - cm,~359N - cm

[Installation of cable track 1 [4] on track mounting bracket 2 [15]]

Hexagonal socket head bolt Tightening torque

Hexagonal socket head bolt M4x8 (2 pcs)

[16] Track mounting bracket 3 H
Hexagonal socket head bolt M4x8 (2 pcs) |
% [15] Track mounting bracket 2 :
. 4 [14] Track support bracket |

M4X8mm 36.7kgf - cm, 359N « cm

[Installation of cable track 2 [17] on track mounting bracket 3 [16]]

Hexagonal socket head bolt Tightening torque

M4X8mm 36.7kgf + cm,/359N - cm

[Installation of cable track 2 [17] on track mounting bracket 2 [15]]

Hexagonal socket head bolt Tightening torque

M4 X8mm

36.7kgf + cm, /359N + cm

[16] Track mounting bracket 3 —. 5

=
KR5GS tie-mount (by HellermannTyton) 4-‘"
+ hexagonal socket head button bolt M4x4 (2 sets) Il

[Installation of tie-mount on track mounting bracket 3 [16]]

| Hexagonal socket head button bolt |
M4X4mm

Tightening torque
11.7kgf * cm, /114N + cm

Tie-mount KR5G5 (by HellermannTyton) __
+ hexagonal socket head button bolt M4x4 (1 set) ‘x_

[15] Track mounting bracket 2
- KR5GS5 tie-mount

(by HellermannTyton)

+ hexagonal socket head
button bolt M4x4 (2 sets)
Install on the back side.

[14] Track support bracket

Tie-mount KR5G5 (by HellermannTyton) \
+ hexagonal socket head button bolt M4x6 (1 set) '-\\ -
Y-axis: ISPA
[1] XY bracket

Tie-mount KR5G5 (by HellermannTyton)
+ hexagonal socket head button bolt M4x6 (1 set)
Install in the T slot of the Y-axis.

[Installation of tie-mount on track mounting bracket 2 [15]]
Tightening torque
11.7kgf » cm./ 114N « cm

| _Hexagonal socket head button bolt |

M4 4mm

_Hexagonal socket head button bolt |

|

| Tie-mount KR5G5 (by HellermannTyton)
I Detail view of A

+ hexagonal socket head button bolt M4x6 (1 set)

[2] Track mounting bracket 1

[6] Box cover 1
[7] Joint cover 1

[10] Cable guard

Hexagonal socket
head bolt M4x6
(2 pcs)

[11] Metal cover
Thin-head bolt M3x12 (4 pcs)

& caution: The cables for X-axis (axis 1), Y-axis (axis 2) and Z-axis
(axis 3) are placed in tracks. Install each cable correctly.
[Cable markings]

Hexagonal socket head bolt M3x12 (8 pcs)

o X-axis (axis 1): 1 e Y-axis (axis 2): 2 e Z-axis (axis 3): 3

Detail view of A

[4] Cable track 1

‘ Cable connector connection ‘

Place the X-axis cable and

X [5] Connector box 1 Cable inside track PG cable (LS cable) into

2 [3] Guide rail . thecable guard [10] and
- \ = F - )
5 [ 3 \{c\ke them out from the top

Pl
Tie-mount KR5G5
(by HellermannTyton)

+ hexagonal socket head \ Nt ol
button bolt M4x6 (1 set) S LA T
~ Ground terminal

Cable inside track

[9] Controller-actuator cable with cable fix cap

[Installation of metal cover [11] on track mounting bracket 1 [2]]
| Thin-head bolt |
|| M3X4mm |

Tightening torque
7.12kgf - cm,“69.8N * cm

[2] Track mounting bracket 1

’ ~ Connector joint for
/ NS M cable and
PG cable (LS cable)

all/

Connector joint for
ISPA M cable and |
PG cable (LS cable) "-\

Ground terminal © . g

Hexagonal socket head bolt M3x3

[5] Connector box

Connector joint for cable inside track
and controller-actuator cable

Make sure the numbers on the

/A Caution: Since the hexagonal holes in thin-head bolts are small,

i [Installation of box cover 1 [6] on connector box 1 [5]]

Hexagonal socket head bolt Tightening torque

the hexagonal holes may be damaged depending on the

M3X12mm 5.51kgf + cm, /54N + cm

tightening method. Exercise due caution when tightening
thin-head bolts.

connectors to be connected match.

[Installation of cable guard [10] on XY bracket [1]]

[Installation of tie-mount on track mounting bracket 1 [2]]
[Installation of tie-mount in T slot of guide rail [3]]

[Installation of ground terminal on [1] XY bracket]

| Hexagonal socket head bolt Tightening torque

Hexagonal socket head button bolt Tightening torque

Hexagonal socket head bolt Tightening torque

M4X 6mm

36.7kgf + cm,/359N + cm

M4 X6mm

11.7kgf » cm, /114N + cm

M3X3mm

15.8kgf + cm,/ 154N « cm

Hexagonal socket head bolt M4x6 |
/ + hexagonal nut (2 sets) :

— [19] Box cover 2 |
Hexagonal socket head bolt M3x12 .
(8 pes) i
. [18] Connector box 2 l

[8] Grommet with film

[20] Joint cover 2

ISPA M cable and
PG cable (LS cable)

Connector joint for |
[Installation of connector box 2 [18] on Z-axis: ISPA] |

Hexagonal socket head bolt
M4 emm

Tightening torque |
18.0kgf + cm,”/ 176N + cm |

[Installation of box cover 2 [19] on connector box 2 [18]]
Tightening torque | |
5.51kgf » cm, /54N « cm

Hexagonal socket head bolt
M3X12mm

[16] Track mounting bracket 3

. [15] Track mounting bracket 2 ¢

Z-axis: ISPA

Secure the cables using wraps.

Secure the cables

using wraps. Foran

Wire the cable in a manner
preventing contact with the Z-axis.

~ Secure the cables

: R using wraps.

| [14] Track support bracket ~ -z

. Secure the cables .'\\-; -
[Installation of tie-mount on track support bracket [14]] | using wraps. Y-ais: ISPA

[Installation of tie-mount in T slot of Y-axis: ISPA] .
Tightening torque | I

M4 X Bmm 11.7kgf » em, /114N + cm

" [1] XY bracket

Secure the cables
using wraps.

X-axis, Y-axis cables

Secure the cables using wraps.

/M, Caution: Secure the wires to prevent the cables and connectors
from contacting each axis when the axis is moved over its
entire stroke.

When manually moving the actuator with brake, connect
the controller, supply the power, and then release the brake
release switch (by turning the switch to the RLS side).




/A Caution:

® Although each part has been chamfered to remove sharp edges, exercise due caution during the

assembly to prevent injury. If necessary, wear gloves or other protective gears.
® Exercise due caution during the assembly to prevent pinching of hands and fingers.

X-axis Nut-rotation Type Cartesian Robot — High-precision 4-axis Specification

ICSPA4-B3N1H (M)

Drawing No. | GMMO7-064 | 172

—

il

[Tools] Allen wrench, spanner wrench

Hexagonal socket head bolt M8x30
+ high-tension washer (4 sets)

‘ Assembly of Y1-axis side

Parallel pin (2 pcs)

Y1-axis: ISPA

Hexagonal bolt M8x40
+ high-tension washer

(4 sets) ‘

xaxis: NS~

X-axis base, reamed-hole side

Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin.
Adjust the angle between the X-axis and Y-axis to the right angle, and then
mount the hexagonal bolts.

Install the grommet with
film [8] onto the Y-axis

actuator cable and
guide the cable through
the hole in the track

ounting bracket [2

Hexagonal socket
head bolt
M5x10 (2 pcs)

[3] Track mounting bracket

=

[2] Track mounting bracket

[8] Grommet with film

[1] XY bracket

[3] Track mounting bracket

[Installation of Y1-axis: ISPA on XY bracket [1]]

X1-axis slider side

X2-axis slider side
base, slotted-hole side

Y1-axis: ISPA

[2] XY bracket

Y2-axis: ISPA

(different direction)

Parallel pin

Hexagonal socket
head bolt

Tightening torque

#8h7%X18

M8&<30mm | 306kgt - cm,/2997N + cm

[Installation of X-axis: NS on XY bracket [1]]

[Installation of track mounting bracket [2] on XY bracket [1]]

* The direction is different on the
Y2-axis side. Assemble the parts
by referring to the Y1-axis side.

Parallel pin Hexagonal bolt Tightening torque

Hexagonal socket head bolt

Tightening torque

$8h718 M8<40mm | 306kgf - cm,/2997N - cm

M5 10mm

74 2kgf

- em 727N - cm

Y1-axis: ISPA

[3] Track mounting bracket

[4] Guide rail

[5] Cable track

Hexagonal socket head bolt M4x10
+ hexagonal nut (2 sets)

Hexagonal socket head bolt M4x10
+ hexagonal nut (2 sets)

[5] Cable track

Hexagonal socket head bolt M4x10 (2 pcs)

[4] Guide rail

[3] Track mounting bracket

Wiring box

In this assembly procedure, the controller-actuator cable is

taken out from the wiring box in the direction shown above.
The cable can also be taken out in the directions shown below.

flo ol jooff

[Installation of cable track [5] on track mounting bracket [3]]
[Installation of guide rail [4] for cable track [5] in T-slot]

Hexagonal socket head bolt

Tightening torque

M4 < 10mm

36.7kgf + cm, 359N - cm

—

2]

Y1-axis: ISPA

Flange socket
(hexagonal socket head type)
M4x10

+ hexagonal nut (3 sets)

7 [8] Grommet with film

[4] Guide rail Y2-axis: ISPA

[9] Controller-actuator cable with
cable fix cap (for axis 1 or 2)

Hexagonal socket head bolt M4x6
+ hexagonal nut (2 sets)

[6] Wiring box bracket

[9] Controller-actuator cable with
cable fix cap (for axis 3 or 4)

[4] Guide rail

Flange socket (hexagonal socket head type) M4x10
+ hexagonal nut (3 sets)

/T Caution: The cables for Y1-axis side (axes 1 and 2) and Y2-axis side
(axes 3 and 4) are placed in tracks. Install each cable
correctly.

[Cable markings]
e Y1-axis side (axes 1 and 2): 1-
e Y2-axis side (axes 3 and 4): 3-

, PG, (LS), 2-M, PG, (LS)
, PG, (LS), 4-M, PG, (LS)

<=

Affixing positions of guide rail [4], cable track [5] and wiring box bracket [6]

.D [5] Cable track [5] Cable track O q
T 30 30 L
o Oy
o ca N s
1l e
H— P e : -'
il T 7
/ 29 29 /
[3] Guide rail [3] Guide rail

Affix the wiring box bracket [6] using the holes on the outer side.

Align the guide rail [3] surface with the end face of the base.

[Installation of wiring box bracket [6] in T slot on X-axis: NS side]

Hexagonal socket head bolt
M4 < émm

Tightening torque
18.0kgf + ¢m, 176N ~ cm

[Installation of guide rail [4] in T slot on X-axis: NS side]

Flange socket (hexagonal socket head type)

M4 < 10mm

Tightening torque
18.0kgf + cm, 176N ~ cm




X-axis Nut-rotation Type Cartesian Robot, High-precision 4-axis Specification

ICSPA4-B3N1H (M)

Drawing No. |

GMMO07-064

| 2/2

‘ Cable wiring diagram

__— Yl-axis: ISPA

» Cable inside track

Connector connection of cable inside cable track and controller-actuator cable

Installation of wiring box cover [7]

_~ [8] Grommet with film

[7] Wiring box
cover ~__

A
Controller-actuator cable

=

_— Cable inside track

Connector joint for cable inside track
and controller-actuator cable

Installation of metal cover [11] ‘

Detail view of A

h [11] Metal cover

[Installation of metal cover [11] on track mounting bracket [3]]

Thin-head bolt Tightening torque

M3X4mm 7.12kgf + cm,/69.8N + cm

A\ Caution: Since the hexagonal holes in thin-head bolts are small,
the hexagonal holes may be damaged depending on the
tightening method. Exercise due caution when tightening
thin-head bolts.

Make sure the numbers on the
connectors to be connected match.

[Installation of wiring box cover [7] on wiring box bracket [6]]

Thin-head bolt

Tightening torque

M3X4mm

7.12kgf - cm /69.8N « cm

thin-head bolts.

A\ Caution: Since the hexagonal holes in thin-head bolts are small,
the hexagonal holes may be damaged depending on the
tightening method. Exercise due caution when tightening

* Assemble the Y2-axis side by referring
to the Y1-axis side.

Tie-mount KR5G5 (by HellermannTyton)

+ hexagonal socket head button bolt M4x6 (1 set)
\ y T .

| [4] Guide rail

[Installation of tie-mount on track mounting bracket [3]]

_— X-axis: NS
-

Detail view of A

Connector connection of ISPA, NS

Installation of cable guard [10]

cable and cable inside track

[3] Track mounti

Connector joint for
ISPA M cable and
PG cable (LS cable)

Ground terminal -

/
Hexagonal socket head bolt M3x3 (1 pc)

ng bracket

Connector joint for
NS M cable and
PG cable (LS cable)

" [10] Cable guard

[Installation of cable guard [10]]

/™ Caution: The cables for X-axis slider on Y1-axis side (axis 1),

Y1-axis (axis 2), X-axis slider on Y2-axis side (axis 3)

and Y2-axis (axis 4) are placed in tracks.

Install each cable correctly.
[Cable markings]

o X-axis on Y1-axis side (axis 1):
e Y1l-axis (axis 2):

o X-axis on Y2-axis side (axis 3):
* Y2-axis (axis 4):

A WN P

Hexagonal socket head bolt

Tightening torque

M4X6mm

36.7kgf + cm, /359N + cm

[Installation of g

round terminal]

Hexagonal socket head bolt

Tightening torque

M3X3mm

15.8kgf + cm,/154N + cm

* Assemble the Y2-a;
to the Y1-axis side.

xis side by referring

+ hexagonal socket bolt M4x6

Tie-mount KRG5 (by HellermannTyton) |
&, + hexagonal nut (1 set)

| [Installation of tie-mount on guide rail [4]]
: Hexagonal socket head button bolt Tightening torque
| M4 X6mm

11.7kgf - om,/ 114N + om |

| * Assemble the Y2-axis side by referring
| to the Y1-axis side.

* Assemble the Y2-axis side by referring
to the Y1-axis side.

/N Caution: Secure the wires to prevent the cables and connectors
from contacting each axis when the axis is moved over its

When manually moving the actuator with brake, connect
the controller, supply the power, and then release the brake
release switch (by turning the switch to the RLS side).

" X-axis: NS




/A Caution: @ Although each part has been chamfered to remove sharp edges, exercise due caution during the
assembly to prevent injury. If necessary, wear gloves or other protective gears.

® Exercise due caution during the assembly to prevent pinching of hands and fingers.

X-axis Nut-rotation Type Cartesian Robot — High-precision 6-axis Specification,
Z Base Mount

ICSPAG-B3N1H (M) B3H (M)

Drawing No. GMMO07-065 | 1/4

|

1]

[Tools] Allen wrench, spanner wrench i

Hexagonal socket head bolt M8x30

+ high-tension washer (4 sets) [1] XY bracket

‘ Assembly of Y1-axis side

Parallel pin (2 pcs) [3] Track mounting bracket

Y1-axis: ISPA

Install the grommet with
film [8] onto the Y-axis
actuator cable and
guide the cable through
the hole in the track
mounting bracket [3].

X1-axis slider side

(base, reamed-hole side) )

[3] Track mounting bracket

Hexagonal bolt M8x40
+ high-tension washer
(4 sets)

[3] Track mounting bracket
Hexagonal socket
head bolt

M5x10 (2 pcs)

Y2-axis: ISPA

[2] XY bracket

X2-axis slider side (different direction)

base, slotted-hole side

[1] XY bracket

X-axis: NS / °

X-axis base, reamed-hole side, X-axis: NS

[8] Grommet with film |

[Installation of Y1-axis: ISPA on XY bracket [1]] |

Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin. . Hexagonal socket ! . . . . .
Adjust the angle between the X-axis and Y-axis to the right angle, and then Parallel pin head bolt Tightening torque * The direction is different on the .
mount the hexagonal bolts. $8h7X18 M&x30mm | 308kgt - cm < 2997N + cm Y2-axis side. Assemble the parts |

[Installation of X-axis: NS on XY bracket [1]] by referrlng to the Y1-axis side.

Parallel pin
$8h7<18

[Installation of track mounting bracket [3] on XY bracket [1]]

Tightening torque I
74.2kgf - em. /727N - cm

Hexagonal bolt
M8 40mm

Tightening torque
306kgt - cm.2997N - cm

Hexagonal socket head bolt
M52 10mm

Y1-axis: ISPA

Hexagonal socket head bolt M4x10 (2 pcs) Wiring box |
[3] Track mounting bracket .
Y2-axis: ISPA In this assembly procedure, the controller-actuator cable is |
taken out from the wiring box in the direction shown above.

[4] Guide rail The cable can also be taken out in the directions shown below.

Hexagonal socket head bolt M4x10
+ hexagonal nut (2 sets)

Hexagonal socket head bolt M4x10
+ hexagonal nut (2 sets)

[5] Cable track

fo ol jooff

[4] Guide rail [3] Track mounting bracket

[Installation of cable track [5] on track mounting bracket [3]] B
[Installation of guide rail [4] for cable track [5] in T-slot] |

Hexagonal socket head bolt
Ma < 10mm

Tightening torque .
36.7kgf + cm /359N - em |

Y1-axis: ISPA

Flange socket
(hexagonal socket head type)
M4x10

+ hexagonal nut (3 sets)

[8] Grommet with film

[4] Guide rail Y2-axis: ISPA

[9] Controller-actuator cable with
cable fix cap (for axis 1, 2 or 3)

Hexagonal socket head bolt M4x6
+ hexagonal nut (2 sets)

[6] Wiring box bracket

[9] Controller-actuator cable with
cable fix cap (for axis 4, 5 or 6)

[4] Guide rail

Flange socket (hexagonal socket head type) M4x10
+ hexagonal nut (3 sets)

/™, Caution: The controller-actuator cables for Y1-axis side (axes 1, 2

and 3) and Y2-axis side (axes 4, 5 and 6) are available.

Install each cable correctly.

[Cable markings]

e Y1-axis side (axes 1, 2 and 3): 1-M, PG, (LS), 2-M, PG,
(LS), 3-M, PG, (LS)

e Y2-axis side (axes 4, 5 and 6): 4-M, PG, (LS), 5-M, PG,
(LS), 6-M, PG, (LS)

Affixing positions of guide rail [4], cable track [5] and wiring box bracket [6] ‘

: it [5] Cable track [5] Cable track O g
T 30 30 A
© SO
T \ e
i 0 b
M Fa— " .
il : 7 _'
/ 29 29 /
[3] Guide rail [3] Guide rail

Affix the wiring box bracket [6] using the holes on the outer side.

Align the guide rail [3] surface with the end face of the base.

[Installation of wiring box bracket [6] in T slot on X-axis: NS side]

Hexagonal socket head bolt
M4 6mm

Tightening torque
18.0kgf + ¢m, 176N ~ cm

[Installation of guide rail [4] in T slot on X-axis: NS side]

Flange socket (hexagonal socket head type)

Ma < 10mm

Tightening torque
18.0kgf + cm, 176N ~ cm




X-axis Nut-rotation Type Cartesian Robot — High-precision 6-axis Specification,
Z Base Mount

ICSPA6-B3N1H (M) B3H (M)

Drawing No. | GMMO7-065 | 2/4

| Z1-axis: ISPA | @

[13] Track mounting plate |

Hexagonal socket head bolt M6x15 (2 pcs)

_axis: | [15] Track mounting bracket 2
. Yi a)ﬁ' ISPA . _-Hexagonal socket head bolt M4x8 (2 pcs) | \ / T .
X-axis: NS . \ / _— Z1l-axis: ISPA
“_[14] Track support bracket [17] Connector box 2 b ]
| Hexagonal socket head bolt M4x16 / pp | \ =
.+ hexagonal nut (2 sets) T

1 Hexagonal socket head bolt —___ %%f‘/?
| M4x5 (2 pcs) T A [
v )]
— !

[12] YZ plate

Place the M4 hexagonal nut in
the T slot beforehand to secure |
~the tie-mount in position. |

N
~Parallel pin (2 pcs)
[12] YZ plate |

Hexagonal socket head bolt M8x25 : ~ X
+ M8 dedicated washer (4 sets) Hexagonal socket head bolt M8x30 | |
+ flat washer (4 sets)

. b Y1-axis: ISPA
Z1-axis: ISPA | T~ |
S
T Xeaxis: NS ==
. \ .
| Y1-axis: ISPA |
[Installation of YZ plate [12] on Y1-axis: ISPA] : [Installation of track support bracket [14] on XY bracket [1]] : [Installation of track mounting bracket 2 [15] on YZ plate [12]]
Parallel pin Hex?]%‘;’l‘ﬂ');‘fke‘ Tightening torque | Hexagonal socket head bolt Tightening torque | Hexagonal socket head bolt Tightening torque
$8h7X18 M8X30mm | 306kgf - cm,/2997N - cm . M4X8mm 36.7kgf + cm,/359N - cm . M6X15mm 126kgf + cm,/1234N + cm
[Installation of Z1-axis: ISPA on YZ plate [12]] | [Installation of track support metal [14] on track mounting plate [13]] | [Installation of connector box 2 [17] on track mounting bracket 2 [15]]
Parallel pin Hexai‘:fngic'@‘ Tightening torque Hexagonal socket head bolt Tightening torque Hexagonal socket head bolt Tightening torque
#8h7X25 M8X25mm | 306kgf + cm,/2997N - cm | M4X16mm 36.7kgf - cm,/359N + cm | M4X5mm 18.0kgf + cm,/176N « cm
* The direction is different on the Z2-axis side. | * The direction is different on the Z2-axis side. | * The direction is different on the Z2-axis side.
Assemble the parts by referring to the Z1-axis side. . Assemble the parts by referring to the Z1-axis side. . Assemble the parts by referring to the Z1-axis side.

[16] Cable track 2 |
\Hexagonal socket head bolt M4x8 (2 pcs) ‘Cable connector connection‘ .

[15] Track mounting bracket 2
Hexagonal (/ﬁ
socket head — \
T

— Z1-axis: ISA, etc.

bolt M4x12 -~ [17] Connector box 2

~ [18] Box cover 2 [17] Connector

[8] Grommet with film  POX 2

s 4| o \ £ Hexagonal socket head bolt
Hexagonal socket head bolt /\\Z\ \ M3x12 (8 pcs) Connector joint for

M4x12 / / i ISPA M cable and .
+ hexagonal nut (2 sets) / (1] XY bracke[tlg] Joint cover 2 PG cable (LS cable) |

[14] Track support bracket

[Installation of cable track 2 [16] on track support bracket [14]] |

Hexagonal socket head bolt Tightening torque .
M4 X 12mm 36.7kgf + cm, 359N - cm |
[Installation of cable track 2 [16] on XY bracket [1]]

Hexagonal socket head bolt Tightening torque |
M4X12mm 36.7kgf + cm, /359N + cm

[Installation of cable track 2 [16] on track mounting bracket 2 [15]] |

Hexagonal socket head bolt Tightening torque .

M4X8mm 36.7kgf - cm,/359N - cm |
[Installation of box cover 2 [18] on connector box 2 [17]] :

Hexagonal socket head bolt Tightening torque |

M3X12mm 5.51kgf + cm,/ 54N + cm

* The direction is different on the Z2-axis side. .
Assemble the parts by referring to the Z1-axis side. |




X-axis Nut-rotation Type Cartesian Robot — High-precision 6-axis Specification,
Z Base Mount

ICSPA6-B3N1H (M) B3H (M)
Drawing No. | GMMO7-065 | 3/4

Cable wiring diagram ‘ Installation of metal cover [11] ‘ Detail view of A

Connector connection of ISPA, NS cable and cable inside track
Installation of cable guard [10]

Z1-axis cable

. Detail view of A
Y1-axis: ISPA $

[3] Track mounting bracket

[3] Track mounting bracket

/™, Caution: The cables for X-axis slider on Y1-axis side (axis 1),
4 Y1-axis (axis 2), Z1-axis (axis 3), X-axis slider on Y2-axis
’ side (axis 4), Y2-axis (axis 5) and Z2-axis (axis 6) are
placed in tracks.
Install each cable correctly.
Connector joint for [Cable markings]
NS M cable and o X-axis slider on Y1-axis side (axis 1): 1
PG cable (LS cable) e Y1-axis (axis 2): 2
o Z1-axis (axis 3): 3
o X-axis slider on Y2-axis side (axis 4): 4
5
6

: Cable inside track

Connector joint for
ISPA M cable and
PG cable (LS cable)
X-axis: NS 3 )
. Ground terminal \\ Y2-axis (axis 5)
o Y2-axis (axis 5):

Hexagonal socket head bolt M3x3 (1 pc) - [10] Cable guard * Z2-axis (axis 6):

[11] Metal cover

Controller-actuator cable
[Installation of cable guard [10]]
Hexagonal socket head bolt Tightening torque
M4 > Bmm 36.7kgf + cm./359N + cm
[Installation of metal cover [11] on track mounting bracket [3]] [Installation of ground terminal]

Hexagonal socket head bolt Tightening torque

| Thin-head bolt | Tightening torque | | / !
‘ M3X4mm 7.12kgf + cm,/69.8N + cm ‘ ’ M3X3mm 15.8kgf + cm,/154N « cm
A Caution: Since the hexagonal holes in thin-head bolts are small,
the hexagonal holes may be damaged depending on the * Assemble the Y2-axis side by referring

tightening method. Exercise due caution when tightening to the Y1-axis side.
thin-head bolts.

Connector connection of cable inside cable track and controller-actuator cable I
Installation of wiring box cover [7]

[7] Wiring b -~ [8] Grommet with film :
iring box

cover % __— Cable inside track I

S = :

N W’ _—— Thin-head bolt M3x4 (6 pcs) |

Controller-actuator cable Connector joint for cable inside track I
and controller-actuator cable .
Make sure the numbers on the |
connectors to be connected match.

[Installation of wiring box cover [7] on wiring box bracket [6]] |
Thin-head bolt Tightening torque |
M3X4mm 7.12kgf + cm,/69.8N - cm
Caution: Since the hexagonal holes in thin-head bolts are small,
i i he h | holes in thin-head bol I
the hexagonal holes may be damaged depending on the
tightening method. Exercise due caution when tightening .
thin-head bolts. |

* Assemble the Y2-axis side by referring 1
to the Y1-axis side. |




X-axis Nut-rotation Type Cartesian Robot — High-precision 6-axis Specification,
Z Base Mount

ICSPA6-B3N1H (M) B3H (M)

Drawing No. | GMMO07-065 | 4/4

[al Z1-axis cables | X-axis, Y1-axis cables |

Tie-mount KR5G5 (by HellermannTyton)

Tie-mount KR5GS (by HellermannTyton) + hexagonal socket head bolt M4x6 (1 set)

+ hexagonal socket head button bolt M4x6 (2 sets) [15] Track mounting bracket 2

[3] Track mounting bracket

Tie-mount KR5G5 X-axis: NS

(by HellermannTyton)

+ hexagonal socket head button bolt

M4x6 (1 set)

[14] Track support Install in the T slot of the Y-axis.
bracket
Tie-mount KR5G5 (by HellermannTyton)
+ hexagonal socket head bolt M4x6
+ hexagonal nut (1 set)
[1] XY bracket

[4] Guide rail
[Installation of tie-mount in track mounting bracket 2 [15]]
[Installation of tie-mount on track support bracket [14]] [Installation of tie-mount on track mounting bracket [3]]
[Installation of tie-mount in T slot of Y1-axis: ISPA] [Installation of tie-mount in T slot of guide rail [4]]
Hexagonal socket head button bolt Tightening torque Hexagonal socket head button bolt Tightening torque
* The direction is different on the Z2-axis side. * Assemble the Y2-axis side by referring
Assemble the parts by referring to the Z1-axis side. to the Y1-axis side.

‘ Z1-axis cables ‘

Secure the cables using wraps.

A

Secure the cables using wraps.

* Assemble the Y2-axis side by referring
to the Y1-axis side.

Secure the cables using wraps.

/A Caution: Secure the wires to prevent the cables and connectors
from contacting each axis when the axis is moved over its
entire stroke.

When manually moving the actuator with brake, connect
* The direction is different on the Z2-axis side. the controller, supply the power, and then release the brake
Assemble the parts by referring to the Z1-axis side. release switch (by turning the switch to the RLS side).




/M Caution: @ Although each part has been chamfered to remove sharp edges, exercise due caution during the
assembly to prevent injury. If necessary, wear gloves or other protective gears.

® Exercise due caution during the assembly to prevent pinching of hands and fingers.

X-axis Nut-rotation Type Cartesian Robot — High-precision 6-axis Specification,
Z Slider Mount

ICSPA6-B3N1H (M) S3M

Drawing No. | GMMO07-066 | 1./4

=1

il

[Tools] Allen wrench, spanner wrench

Hexagonal socket head bolt M8x30
+ high-tension washer (4 sets)

‘ Assembly of Y1-axis side

Parallel pin (2 pcs)

Y1-axis: ISPA

Install the grommet with
film [8] onto the Y-axis
actuator cable and
guide the cable through
the hole in the track
mounting bracket [3].

[3] Track mounting bracket

Hexagonal bolt M8x40
+ high-tension washer

(4 sets) ‘

Hexagonal socket
head bolt
M5x10 (2 pcs)

[1] XY bracket

X-axis base, reamed-hole side X-axis: NS

[8] Grommet with film

[Installation of Y1-axis: ISPA on XY bracket [1]]

[3] Track mounting bracket

[3] Track mounting bracket

[1] XY bracket

Y1-axis: ISPA

X-axis: NS

Y2-axis: ISPA

[2] XY bracket

X2-axis slider side (different direction)

(base, slotted-hole side)

* The direction is different on the

Note: To ensure squareness between the X-axis and Y-axis, insert one parallel pin. Parallel pi Hexagonal socket Tightening t
Adjust the angle between the X-axis and Y-axis to the right angle, and then arafel pin head bot 'ghtening torque
mount the hexagonal bolts. $8h7X18 Me<30mm | 308kgt - cm,2997N + cm

Y2-axis side. Assemble the parts

[Installation of X-axis: NS on XY bracket [1]]

[Installation of track mounting bracket [3] on XY bracket [1]]

by referring to the Y1-axis side.

Parallel pin Hexagonal bolt Tightening torque Hexagonal socket head bolt

Tightening torque

$8h7>{18 M8 40mm | 306kgt - cm,/2997N « cm ME>10mm

74.2kgf - ¢m /727N - cm

Y1-axis: ISPA

Hexagonal socket head bolt M4x10 (2 pcs)

[3] Track mounting bracket
Y2-axis: ISPA

[4] Guide rail

[5] Cable track

Hexagonal socket head bolt M4x10
+ hexagonal nut (2 sets)

Hexagonal socket head bolt M4x10
+ hexagonal nut (2 sets)

[5] Cable track

N
[4] Guide rail [3] Track mounting bracket

[Installation of cable track [5] on track mounting bracket [3]]
[Installation of guide rail [4] for cable track [5] in T-slot]

Hexagonal socket head bolt
14<10mm

Tightening torque
36.7kgf - cm 359N - cm

Wiring box

In this assembly procedure, the controller-actuator cable is
taken out from the wiring box in the direction shown above.
The cable can also be taken out in the directions shown below.

% %

Y1-axis: ISPA

Flange socket
(hexagonal socket head type)
M4x10

+ hexagonal nut (3 sets)

7 [8] Grommet with film

[4] Guide rail Y2-axis: ISPA

[9] Controller-actuator cable with
cable fix cap (for axis 1, 2 or 3)

Hexagonal socket head bolt M4x6
+ hexagonal nut (2 sets)

[6] Wiring box bracket

[9] Controller-actuator cable with
cable fix cap (for axis 4, 5 or 6)

[4] Guide rail

Flange socket (hexagonal socket head type) M4x10
+ hexagonal nut (3 sets)

/% Caution: The controller-actuator cables for Y1-axis side (axes 1, 2

and 3) and Y2-axis side (axes 4, 5 and 6) are available.

Install each cable correctly.

[Cable markings]

e Y1-axis side (axes 1, 2 and 3): 1-M, PG, (LS), 2-M, PG,
(LS), 3-M, PG, (LS)

e Y2-axis side (axes 4, 5 and 6): 4-M, PG, (LS), 5-M, PG,
(LS), 6-M, PG, (LS)

Affixing positions of guide rail [4], cable track [5] and wiring box bracket [6] ‘

: g [5] Cable track [5] Cable track 0 :
. . 30 30 . .
© ©
0 s
= F— ——— " r—
il : 7
/ 29 29 /
[3] Guide rail [3] Guide rail

Affix the wiring box bracket [6] using the holes on the outer side.

Align the guide rail [3] surface with the end face of the base.

[Installation of wiring box bracket [6] in T slot on X-axis: NS side]

Hexagonal socket head bolt
M4 < 6mm

Tightening torque
18.0kgf - em, 176N - cm

[Installation of guide rail [4] in T slot on X-axis: NS side]

Flange socket (hexagonal socket head type)

M4 10mm

Tightening torque
18.0kgf - cm, 176N - cm




X-axis Nut-rotation Type Cartesian Robot — High-precision 6-axis Specification,
Z Slider Mount

ICSPAG6-B3N1H (M) S3M

Drawing No. | GMMO07-066 | 2/4

Hexagonal socket head bolt M6x12 (2 pcs) | @

| [15] Track mounting bracket 2

Hexagonal socket head bolt M4x8 (2 pcs)

[14] Track support bracket \ by . / Z1-axis: ISPA

X-axis: NS Y1-axis: ISPA

[16] Track mounting bracket 3

=
K<)
o
Q
O
x
3
[=)
=
=}
=
>
«Q
-
Q
2
(9]

Parallel pin (2 pcs)

[12] YZ bracket

Hexagonal socket head bolt M4x16

+ hexagonal nut (2 sets) \\
[1] XY bracket Mo

Hexagonal bolt M8x35

+ flat washer (4 sets) |

Z1-axis: ISPA ]

Place the M4 hexagonal nut (1 pc) in the T slot |
beforehand to secure the tie-mount in position.

[12] YZ bracket : [Installation of track support bracket [14] and track mount [13] on Y1-axis: ISPA]

Hexagonal socket head bolt M8x40 | Hexagonal socket head bolt Tightening torque |

o
4 (4 pes) | M4 16mm 36 7kgf - em /356N - cm |
[Installation of YZ bracket [12] on Y1-axis: ISPA] : [Installation of track support bracket [14] on XY bracket [1]]
Parallel pin Hexagonal bolt Tightening torque | Hexagonal socket head bolt Tightening torque |
¢ 8h7X18 MgX35mm | 117kgt - cm,/1148N - em - M4>8mm 36.7kgf + cm, 359N - cm
[Installation of Z1-axis: ISPA on YZ bracket [12]] | [Installation of track mounting bracket 2 [15] on YZ bracket [12]] | [Installation of track mounting bracket 3 [16] on Z1-axis: ISPA]
Parallel pin Hexagonal socket Tightening torque Hexagonal socket head bolt Tightening torque Hexagonal socket head bolt Tightening torque
¢ Bh7>X18 M8 40mm | 306kgt - cm, 2097N - cm M&>12mm 126kgf « cm,1234N + ¢cm M8 15mm 306kgf + cm,2097N - ¢m

* The direction is different on the Z2-axis side.
Assemble the parts by referring to the Z1-axis side.

* The direction is different on the Z2-axis side.
Assemble the parts by referring to the Z1-axis side.

* The direction is different on the Z2-axis side.
Assemble the parts by referring to the Z1-axis side.

[4] Cable track 1

Hexagonal socket head bolt M4x8 (2 pcs)

Hexagonal socket head bolt M4x8 (2 pcs)

Hexagonal socket head bolt M4x12
+ hexagonal nut (2 sets)

[16] Track mounting bracket 3

Hexagonal socket head bolt M4x12 (2 pcs) - s ] Hexagonal socket head bolt M4x8 (2 pcs) |

. [15] Track mounting bracket 2 |
Y1l-axis: ISPA .

[14] Track support bracket |
[1] XY bracket

[Installation of cable track 1 [4] on track support bracket [14]] [Installation of cable track 2 [17] on track mounting bracket 3 [16]] :

Hexagonal socket head bolt Tightening torque Hexagonal socket head bolt Tightening torque |
M4 12mm 36.7kgf + cm.359N + em M4 8mm 36.7kgt + cm_~359M + cm

[Installation of cable track 1 [4] on XY bracket [1]] [Installation of cable track 2 [17] on track mounting bracket 2 [15]] |

Hexagonal socket head bolt Tightening torque Hexagonal socket head bolt Tightening torque .

M4 > 12mm 36.7kgf « cm_ 350N - cm M4 < 8mm 36.7kgt + cm, 359N - cm |

[Installation of cable track 1 [4] on track mounting bracket 2 [15]] |

Hexagonal socket head bolt Tightening torque * The direction is different on the Z2-axis side. :
M42<8mm 36.7kgt - cm 359N - cm Assemble the parts by referring to the Z1-axis side. |




X-axis Nut-rotation Type Cartesian Robot — High-precision 6-axis Specification,
Z Slider Mount

ICSPA6-B3N1H (M) S3H (M)

Drawing No. | GMMO07-066 | 3/4

Installation of metal cover [11] ‘

‘ Cable wiring diagram

Detail view of A

_—Y1-axis: ISPA

[5] Cable track

» Cable inside track

[11] Metal cover
Controller-actuator cable

[Installation of metal cover [11] on track mounting bracket [3]]

Thin-head bolt Tightening torque

A M3X4mm 7.12kgf + cm,/69.8N + cm

A Caution: Since the hexagonal holes in thin-head bolts are small,
the hexagonal holes may be damaged depending on the
tightening method. Exercise due caution when tightening
thin-head bolts.

Connector connection of cable inside cable track and controller-actuator cable
Installation of wiring box cover [7]

_— [8] Grommet with film

[7] Wiring box

cover ~._ __~ Cable inside track I
=14 :
——" Thin-head bolt M3x4 (6 pcs) I

Controller-actuator cable Connector joint for cable inside track I

and controller-actuator cable
Make sure the numbers on the |
connectors to be connected match.

[Installation of wiring box cover [7] on wiring box bracket [6]] |
Thin-head bolt Tightening torque |
M3X4mm 7.12kgf - cm /69.8N « cm

A\ Caution: Since the hexagonal holes in thin-head bolts are small, |
the hexagonal holes may be damaged depending on the
tightening method. Exercise due caution when tightening
thin-head bolts. |

* Assemble the Y2-axis side by referring |
to the Y1-axis side. |

Detail view of A

Connector connection of ISPA, NS cable and cable inside track
Installation of cable guard [10]

[3] Track mounting bracket

Connector joint for
ISPA M cable and
PG cable (LS cable)

NS M cable and

Ground terminal

Hexagonal socket head bolt M3x3 (1 pc)

[Installation of cable guard [10]]

Connector joint for

-—-/Jfa PG cable (LS cable)

" [10] Cable guard

/%, Caution: The cables for X-axis slider on Y1-axis side (axis 1),
Y1-axis (axis 2), Z1-axis (axis 3), X-axis slider on Y2-axis
side (axis 4), Y2-axis (axis 5) and Z2-axis (axis 6) are
placed in tracks.

Install each cable correctly.

[Cable markings]

o X-axis slider on Y1-axis side (axis 1): 1
o Y1l-axis (axis 2): 2
® Z1-axis (axis 3): 3
o X-axis slider on Y2-axis side (axis 4): 4
e Y2-axis (axis 5): 5
o Z2-axis (axis 6): 6

Hexagonal socket head bolt Tightening torque

M4 X 6mm 36.7kgf + cm,/359N + cm

[Installation of ground terminal]

Hexagonal socket head bolt Tightening torque

M3X3mm 15.8kgf + cm,/ 154N « cm

* Assemble the Y2-axis side by referring
to the Y1-axis side.

e e e —




X-axis Nut-rotation Type Cartesian Robot — High-precision 6-axis Specification,
Z Slider Mount

ICSPA6-B3N1H (M) S3M

Drawing No. | GMMO07-066 | 4/4

‘ Z1-axis cables

9]

[16] Track mounting bracket 3

KR5GS tie-mount (by HellermannTyton) '
+ hexagonal socket head button bolt M4x4 (2 sets)

[Installation of tie-mount on t(ack mounting bracket 3 [16]]
Tightening torque
11.7kgf + em/ 114N « cm

Hexagonal socket head button bolt
M4 4mm

Tie-mount KR5G5 (by HellermannTyton) .
+ hexagonal socket head button bolt M4x4 (1 set) | g
5=

[15] Track mounting bracket 2
- KR5G5 tie-mount

(by HellermannTyton)

+ hexagonal socket head
button bolt M4x4 (2 sets)
Install on the back side.

[14] Track support bracket

Tie-mount KR5G5 (by HellermannTyton)
+ hexagonal socket head button bolt M4x6 (1 set)

Y1-axis: ISPA
[1] XY bracket

Tie-mount KR5G5 (by HellermannTyton)
+ hexagonal socket head button bolt M4x6 (1 set)
Install in the T slot of the Y-axis.

Z1-axis: ISPA
(by HellermannTyton)

Hexagonal socket head bolt M4x6 \

/ + hexagonal nut (2 sets)

[19] Box cover 2
Hexagonal socket head bolt M3x12

(8 pes)
[18] Connector box 2

[8] Grommet with film

[20] Joint cover 2 Connector joint for

ISPA M cable and
PG cable (LS cable)

[Installation of connector box 2 [18] on Z1-axis: ISPA]
Tightening torque
18.0kgf - cm 176N - cm

Hexagonal socket head bolt
M4 > 6mm

[Installation of box cover 2 [19] on connector box 2 [18]]
Tightening torque
5.51kgf » em, 54N - cm

Hexagonal socket head bolt
M3 12mm

[Installation of tie-mount on track support bracket [14]]

[Installation of tie-mount on track mounting bracket 2 [15]]

[Installation of tie-mount in T slot of Y1-axis: ISPA]

Hexagonal socket head button bolt Tightening torque Hexagonal socket head button bolt

Tightening torque * The direction is different on the Z2-axis side.

M4 X 6mm

M4 X 4mm 11.7kgf - em, /114N + cm

11.7kgf + cm,/114N + cm Assemble the parts by referring to the Z1-axis side.

‘ X-axis, Y1-axis cables ‘

Tie-mount KR5G5 (by HellermannTyton)
+ hexagonal socket head button bol{M4x6 (1 set)

[3] Track mounting bracket
Tie-mount KRG5 (by HellermannTyton)
+ hexagonal socket bolt M4x6

+ hexagonal nut (1 set)

X-axis: NS

[4] Guide rail

[Installation of tie-mount on track mounting bracket [3]]
[Installation of tie-mount in T slot of guide rail [4]]

Tightening torque
11.7kgf - cm,/ 114N+ cm

Hexagonal socket head button bolt
M4X 6mm

* Assemble the Y2-axis side by referring
to the Y1-axis side.

Secure the cables using wraps.

Secure the cables
using wraps.

Wire the cable in a manner
preventing contact with the Z-axis.

[15] Track mounting bracket 2 . Pas F
=T ~Secure the cables
e using wraps.
[14] Track support bracket - . 4
Secure the cables © . . Ny
B Y1-axis: ISPA

using wraps.

[1] XY bracket
Secure the cables
using wraps.

* The direction is different on the Z2-axis side.
Assemble the parts by referring to the Z1-axis side.

X-axis: NS

* Assemble the Y2-axis side by referring
to the Y1-axis side.

/M, Caution: Secure the wires to prevent the cables and connectors
from contacting each axis when the axis is moved over its
entire stroke.

When manually moving the actuator with brake, connect
the controller, supply the power, and then release the brake
release switch (by turning the switch to the RLS side).




